Exercise 1: Multiply the monomials (5x°y°)(=3xy*)
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Exercise 2 igly using the Distributive Property
a) 2p°(4p’ =5)
(22 Y4 +(26*)(-9)
e+ (-196°)
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b) 9m3nS(—6m?n? + 8m?n + 1)
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The Greatest Common Factor

The greatest common factor (GCF) for a polynomial is the largest monomial that divides each term of
i N 1
the polynomial. GCE | A lwsu{r Constan) that each

Factoring the greatest common factor of a polynomial: coetficient 1§ divisible b\/ '
1. Determine the greatest common factor
2. Write the answer in factored form.

2. ¢ there 18 avarichk ja each
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ferm; wse “Ehe [owest power /
The GCF factoring process is the reverse of the Distributive Property you see.

Multiply
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The Distributive Property: a(b+c)=ab+ac

Factor/Divide

The GCF factoring: ab+ac=a(b+c)




Exercise 3: Factor the greatest common factor and express the answer in factored form. Check by

multiplying using the Distributive Law. 5'93 + lS'lo"-—SOr
3 A _
a) Factor 5p’ +15p* =30p =5p (53¢t ISE 3o,.>

S- [ugr"c,arl‘w"

=5 (_g+lS‘L-—_0_,:
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Answer in factored form:

Check: c,ke(_[L ’ ng+ IS'P'l — 30p
Mo'L q S*E‘j
b) Factor 9a®b* — 6a?b® + 3ab? ( Sa\o"' 3&‘04_ PRl

ocr: 36" / / /

Answer in factored form: ,37&191 (Sqlb - 20k +) )

Check:

n

c) Factor5(x +y) —6x(x +y)

(88 - 5)

[}

(x+y ) (5 — 6x)
GCF: (’H\/}

Answer in factored form: (Y""/\) (S— ‘x) er (S-—GY‘) (x+_y)

Check: S(X"'\D - bx (x"’\/3




Factoring by Grouping
Before factoring by grouping, first we factor out GCF from all four terms.

Steps in factoring by grouping (Assume there is no GCF)
1. Group pairs of terms and factor each pair.
2. Ifthere is a common binomial factor, then factor it out.
3. If there is no common binomial factor, then interchange the middle two terms and repeat the
process over. If there is still no common binomial, then the polynomial cannot be factored.

Factor 4x + 6y + 2xy + 3y? by grouping

Step 1: Group the pairs of terms 4x + 6y) + (2xy + 3y?
Step 2: Factor the GCF from each pair 2x+3y)+vyv(2x+ 3y
Step 3: Factor the common binomial factor 2x+3y)2+y

Exercise 4: Factor by grouping. Follow the steps in the table

a) Factor by grouping: 56+ 21k +8h + 3hk

Show work here
Step 1: Group the pairs of terms (S’é +7| k) + ( ¥h+ SL\ k}
Step 2: Factor the GCF from each pair 7— ( ?+3k } + l,\ (8 +3k3

Step 3: Factor the common binomial factor (8-{- 3'() ’c?_ —+ l-\)
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Cl\a.clcs S’é —P’)-”< "’3L‘(
b) Factor by grouping: 5x° +40x — xy — 8y $C 42k 4+ ¥h+3 ) v

Show work here

Step 1: Group the pairs of terms. Be careful ( SXL + L‘jOX) + (, Xy —3 \’)

with the signs.
Step 2: Factor the GCF from each pair. Be
careful with the signs. SX ( X + X/ ) —l’é‘/}( X"' Y}
Step 3: Factor the common binomial factor (X"‘” 8’) (J’X — \/)
% ~Ry
(sx*=xy) + (Hox = By)
x(Sx-y) + 8 (sx-v)

(x+%) ($x-y)




